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Thez;e are 13 questions in this booklet

Answer ALL questions.

You are not allowed to use a calculator.
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A 7
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C 1
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Section A

Questions 1 1o 3 carmry 1 mark each.

Questions 4 and 5 carry 2 marks each.

For each question, four options are given. One of them is the comrect answer, Make
your choice and write its number (1, 2, 3 or 4)in the brackets provided. (7 marks)

1. In the figure below, which angle is greater than a right angle?
D

1) ZABC
2) ZBAD
3) ZCDA
4) /DCB o )

2. Which of the following figures is a symmetric figure?

1) 2)

3) 4)

2 Sub-Total:




3. The figure below is not drawn to scale.
KLWMN is a square. Find Ze.

K L
230
<]
31°
N M
1) 36°
2) 46°
3) 59°
4) 67° _ (

4. Johnisfacing south-west. When he tums through anangleof ____~~ ~

in an anti-clockwise direction, he will be facing east.

1) 45
2) o
3) 1350
4) 225 (

3 Sub-Total:




5.

The figure below Is made up of 2 identical squares of side 4 cm, a rectangle A
with breadth 5 cm and a square B. Find the length of rectangle A.

1)

- 2)

3)
4)

5om

9cm
17 cm
18 em

22¢cm

14 cm

Sub-Total:




Saction B
Questions 6 to 8 camy 1 mark each,

Questions 9 and 10 carry 2 marks each.

Show your working clearly in the space provided for each question and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. {7 marks)

6. Use a protractor io measure £XYZ.
Y

7.  Inthefigure below, what is the least number of squares that must be added so
that AB is the line of symmetry for the figure.

A

»

5 Sub-Total:




8. In the square grid below, two sides of a rectangle have been drawn.
Complete the drawing of the rectangle within the grid with the given lines.
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9.  The figure below is not drawn to scale. EF is perpendicular FG and £p = £q.
Find Zp.

E

480

6 Sub-Total:




10. Study the diagram bebow.,

1 slep

X
_’

1 stap

Perry was at a certain position, He walked 2 steps due noith, 1 step dise east,
4 steps due south and then 3 steps due wesl. He ended at Position X. What
was his starting position?

Position

7 Sub-Total:




Section €

For questions 11 to 13, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at the
end of each question or part-question. {11 marks)

11.  MrLimhad 528 mangoes. He sold all the mangoes at 6 for $14. How much
money did he receive?

Ans: I K]

8 Sub-Total:




12.

Mrs Tan baked three times as many banana muffins as chocolate muffins.
After she gave away 16 chocolate muffins, there were 5 times as many
banana muffins as chocolate muffins. How many chocolate muffins did she
bake at first?

Ans: H}

8 Sub-Total:




13, Rina had 5 times as many red beads as blue beads at first. She then gave
away 36 red beads and bought another 36 blue beads. She had the same
number of red beads and blue beads in the end. How many red beads did
she have in the end?

Ans: 14}

~ End of Paper ~

10 Sub-Total:
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CONTACT :

Q6) 108°
Q7) 3
Q8)

LS

Q9) 90-48=42°
42 +2=21°

Q10) Y

Q11) 528+6=88
88 x 14 =1232
Mr Lim receive $1232

Q12) 2u->16x3=48
lu>48+2=24
24 +16=40
She bake 40 chocolate muffins at first.

Q13) 36+2=18
3x18=54
She have 54 red beads in the end.
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